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Directions (1-15): fRaferfera wai & wyar= = (?) F 7 9 /97 /14 -

q1, V360 — 225X 2 + 379 =>

(a) 17

(b) 19

(c) 279

(d) 289

(e) =TH H FIs gl
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Q2_93 X 817 + 27° = (3)

(a) 3

(b) 4

(c)5

(d) 6

(e) THH | Fls Aal
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Q3. 572 +26 x 12-200=(2)’
(a) 5

(b) 6

(7

(d)8

(e) TAH T FS '_'@f
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Q5.36% of 245 - 40% of210=10-7?
() 4.2

(b) 6.8

(c)4.9

(d) 5.6

(e) T & FrE 7L
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Q6.4003 x 77-21015=7?x 116
(a) 2477

(b) 2478

(c) 2467

(d) 2476

(e) STH H FIs gl
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Q7. [(5vV7 +V7) x (4v7 + 8V7)| — (19)% =7
(a) 143

(b) 727

(c) 134

(d) 707

(e) SH H FI< gl
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Q8. (4444 + 40) + (645 + 25) + (3991 + 26) =?
(a) 280.4
(b) 290.4



(c) 295.4

(d) 285.4

(e) T & FiE T
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Q9.v33124 x /2601 — (83)2 = (?)% + (37)?
(a) 37

(b) 33

(c) 34

(d) 28

(e) T & FrE 7
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Q10.5;—Zx4%x 11§+22=?
(a) 303.75
(b) 305.75

(c) 3032
() 305~

(e) THH | Fls Aal
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Q11. 361 x250+50=25x?
(a) 74.2

(b) 72.2

(c)70.4

(d)72.4

(e) 68.4
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Q12. 56% of 450 +? =300
(a) 52

(b) 48

(c) 42

(d) 56

(e) 54
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Q13. 40% of 250 = 50% of?
(a) 200

(b) 100

(c) 150

(d) 400

(e) 420
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Q14. 81+20x0.75-9=?
(a) 97

(b) 107

(c) 87

(d) 77

(e) 82
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Q15 22440 ++/7=34 % 12

(a) 55

(b) 3136

(c) 65

(d) 3025

(e) 3020
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Solutions

S1. Ans.(a)
Sol V360 — 450 + 379 = /289 =17

S2. Ans.(c)
37 =(3")P¢x (3" =3°%x3%+3=3°
Sol, On.7=5

S3. Ans.(b)



2'=572+:26=22x12=264-200=64=2°%

Or,?7=6
Sol.

S4. Ans.(a)
1 7 5
6+7—10 1

Sol. 12 4

S5. Ans.(e)
36% of 245 = (40 - 4)% of 245
2 a5 X2 e 95882
TEX T T T P TR TEE

40% of 210 =§x 210 =84

Difference =88.2-84=4.2

?7=10-42=h8
Sol.

S6. Ans.(d)

Sol.

?7x116 =4003 x 77 - 21015

Or,?x 116 =308231 -21015=287216

Or,?x 116 = 287216
_ 287216

o ? = 2476
116
S7. Ans.(a)
Sol.
[(5v7 +V7) x (4v7 + 8V7)] — (19)?
=[20x74+4x7+8x7+40x7]—361
= [140 + 28 + 56 + 280] — 361
=504 —361 = 143
S8. Ans.(b)
Sol.

? = (4444 + 40) + (645 + 25) + (3991 =+ 26)
4444 N 645 N 3991
40 25 26
=111.1+ 25.8 + 153.5 = 290.4

S9. Ans.(e)
Sol.

(7)% 4 (37)%2 =/33124 x /2601 — (83)>2
Or, (?)2+ (37)2 = 182 x 51 — (83)>2



Or, (?)? + 1369 = 9282 — 6889 = 2393
Or, (?)? = 2393 — 1369 = 1024
5 ?7=+1024 = 32

S10. Ans.(b)
Sol.

725 w42 111423
37 52 7 4
202 259 78 11

= X X — + —
37 52 7 4
202 259 3 11
=—X—X=-+—
37 7 2 4
11 11 1212+ 11
=101X3+Z=303+ =—

4 4
1223
=—,—=30575

S11. Ans.(b)
J o 5 361%250
50

361 % 5
=7= =

Sol. 25

=361 x5

72.2

S12. Ans.(b)

56% of 450 + 7 =300
S56x450

- =
= o0 + 7= 300

= 252+ 7=300
=7=300-252=48
Sol.

S13. Ans.(a)
250 x 40 _ . 50

=7x
100 100
=7 50 = 250 x 40

25040 = 200

= 7=
Sol.

S14. Ans.(c)
Sol.
?7=81+15-9=87

S15. Ans.(d)






